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GENERAL KNOWLEDGE - GENERAL KNOWLEDGE
Question No.1 Marks: 1.00
Bookmark
In public sector, what is the full form of "LIC"?
(A) O Life Insurance Corporation (Correct Answer)
(B) O Life Insurance Company
(C) O Lively Insurance Corporation
(D) O Life Insurers Corporation
Question No.2 Marks: 1.00
Bookmark
As per Stockholm International Peace Research Institute (SIPRI) report 2019 for the
period 2014-2018, which country is the largest arms importer in the world?
(A) O India
(B) © Myanmar
(C) O Saudi Arabia (Correct Answer)
(D) O Germany
Question No.3 Marks: 1.00
Bookmark
When was the Constitution of India adopted by the Constituent Assembly?
(A) O January 25 1930
(B) © ‘26th November 1949 (Correct Answer)
(C) © 13th January 1950
(D) O 15th August 1947
Question No.4 Marks: 1.00
Bookmark
Arjuna Award' is awarded for the excellence in which field?
(A) O Mathematics
(B) O Science
(C) O Literature
(D) O Sports (Correct Answer)
Question No.5 Marks: 1.00
Bookmark
What is the full form of the acronym 'SWIFT), in financial institution?
(A) O Society for Worldwide Interbank Financial Telecommunication (Correct
Answer)
(B) O Society website in Financial Terms
(C) O Social Wide in Financial Transaction
(D) © Social World interconnection in Financial Tech process
Question No.6 Marks: 1.00
Bookmark

Nairobi negotiations are related to which of the following Organisation?
(A) O The United Nations Children's Fund

() O UNESCO
(€) © World Economic Forum
(D) O World Trade Organisation (Correct Answer)




Question No.7 Marks: 1.00

Bookmark
The process of peeling of rocks into layers is called

(A) O Delta

(B) O Barchans

(C) O Sublimation

(D) O Exfoliation (Correct Answer)

Question No.8 Marks: 1.00

Bookmark
The International boundary 'Radcliffe Line' lies between India and

(A) O Pakistan (Correct Answer)
(B) O Afghanistan

(C) O Japan

(D) O China

Question No.9 Marks: 1.00

Bookmark
Tiger Woods is associated with which of the following fields?

(A) O Cinema

(B) © Politics

(C) O sports (Correct Answer)
(D) O Literature

Question No.10 Marks: 1.00

Bookmark
Arunachal Pradesh does not share its borders with which-one of the following nations?

(A) O Bhutan

(B) O Bangladesh (Correct Answer)
(C) O China

(D) O -Myanmar

ENGLISH KNOWLEDGE - ENGLISH KNOWLEDGE

Question No.1 Marks: 1.00

Bookmark
Choose the word which best expresses the similar meaning of the given word "

ABDICATE "

(A) O Pursue

(B) O Relinquish (Correct Answer)
(C) O Treasure

(D) O Continue

Question No.2 Marks: 1.00

Bookmark
Find the word which is correctly spelt from the given options.
(A) O Syndrome (Correct Answer)

(B) O Obecity

(C) O Seriuous

(D) O Abolishid

Question No.3 Marks: 1.00

Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given

options: If the given sentence is correct then select the option 'The given sentence is
correct’.

The corono virus continued to spread, with the development of infections advancing
quickly

(A) O The given sentence is correct (Correct Answer)
(B) O continue to spread, with the development of infections




(C) O continued to spreading, with the development of infections
(D) O continued for spread, with the development of infections

Question No.4 Marks: 1.00

Bookmark
Choose the best option from the given alternatives which can be substituted for the
given word/sentence.

Code of diplomatic etiquette and precedence
(A)© Protocol (Correct Answer)

(B) O Sheath

(C) © Wardrobe

(D) O Secular

Question No.5 Marks: 1.00

Bookmark
In the following guestion, one part of the sentence may have an error. Find out which
part of the sentence has an error and select the option corresponding to it. If the
sentence contains no error, Select "No error" option. (Avoid punctuation errors)

(A) The boys campaigned / (B) not onlyin / (C) Mumbai also in Chennai./ (D) NO ERROR
A O D
(B) O CcC (Correct Answer)

© O B
D) O A
Question No.6 Marks: 1.00
Bookmark
Choose the word which expresses nearly the opposite meaning of the given word "
DILIGENT "
(A) O Careful
(B) O Active
(C)- O Busy
(D) O Lazy (Correct Answer)
Question No.7 Marks: 1.00
Bookmark
Find the word which is correctly spelt from the given options.
(A) O Idantical
(B) O Clasification
(C) O Profitable (Correct Answer)
(D) O Dimnished
Question No.8 Marks: 1.00
Bookmark
Rearrange the following to form a meaningful sentence and find the most logical order
from the given options.
P: globally, out of which over 200 million
Q: are now in India, and
R: flipkart has 700 million users
S: growing exponentially
(A) O PQRS
(B) O RPQS (Correct Answer)
(C) O RPSQ
(D) © /RSQP
Question No.9 Marks: 1.00
Bookmark

Fill in the blanks with suitable Preposition from the given alternatives.




BCCl receives
(A) O against

(B) O for

(C) O since

(D) O over (Correct Answer)

__ 1000 applications for Team India head coach position

Question No.10 Marks: 1.00

Bookmark
Fillin the blanks with suitable Article from the given alternatives.

Everyone is ready to accept __new rules framed by the executive body

(A) O the (Correct Answer)
(B) O an

(€ O a

(D) O No article

ELECTRICAL ENGINEERING - ELECTRICAL ENGINEERING

Question No.1 Marks: 1.00

Bookmark
The current flowing in to a balanced delta connected load through line 'a' is 10 A when
the conductor of line 'b' is open. Withthe current in line 'a’ as reference, compute the
symmetrical components of the line currents. Assume the phase sequence of 'abc'.

WO 1,=1 A
I.=(-1.66 + j2.88) A
I,=(1.66 —;2.838) A

®O 71,=10 A
=(=5+,2.88) A

IAS— j2.88) A

al

L]

6 Q=0 A

I, = (5 + j2.88) A |(Correct Answer)
I,=(5—-,2.88) A
@O 1,-0a
I,=(-1.66 +§2.88) A
I,,=(1.66+y2.88) A
Question No.2 Marks: 1.00
Bookmark
Two-wattmeter method is used to measure the power taken by a 3-phase induction
motor on no load. The wattmeter readings are 400 W and —50 W. Calculate the reactive
power taken by the load.
WO 3505 var
E) o 450\,6 VAR |(Correct Answer)
©) O
450
—— VAR
NE)
(0) O 350
— VAR
V3
Question No.3 Marks: 1.00
Bookmark

In a series RLC circuit, the supply voltage is 230 V at 50 Hz. The resonant currentis 2 A
at the resonant frequency of 50 Hz. Under the resonant condition, the voltage across the
capacitor is measured to be equal to 460 V. What are the values of L and C?

(A) O 0.73mH and 13.85 pF




(8) O 0.53H and 15.83 pF
() O 0.53mH and 15.83 pF
(D) O 0.73 H and 13.85 pF (Correct Answer)

Question No.4 Marks: 1.00

Bookmark
Which among these components connects to physical equipments of the distribution
system?

(A) O Central control room with host computers
(B) © Remote Terminal Unit (Correct Answer)
(C) ©O Communication infrastructure

(D) O None of the above

Question No.5 Marks: 1.00

Bookmark
A 10 A, Type C Miniature Circuit Breaker (MCB) will trip at fault currents

(A) O between 50 A and 100 A (Correct Answer)
(B) O lessthan10 A

(C) O greater than 100 A

(D) © between 10 Aand 50 A

Question No.6 Marks: 1.00

Bookmark
The sending end and receiving end voltages of the short transmission line are 150 KV

and 120 KV respectively. Calculate its percentage voltage regulation.
A) O 40%

() O 30%
(C) O 20%
(D) O 25%(Correct Answer)

Question No.7 Marks: 1.00

Bookmark
If a cable of homogeneous insulation has maximum stress of 6 kV/mm, then the

dielectric strength of insulation should be
A) O 12kV/mm

(B) O 6 kV/mm (Correct Answer)
(€) O 3kV/mm
(D) O 1.5kV/mm

Question No.8 Marks: 1.00

Bookmark
In two-part tariff, the ................... charges depend upon the maximum demand of the

consumerand the ............... charges depend upon the number of units consumed by the
consumer.

(A) ©" semi-fixed, running

(B) O fixed, running (Correct Answer)
(C) O fixed, semi-fixed

(D) O running, fixed

Question No.9 Marks: 1.00

Bookmark
The magnetizing inrush current in a transformer is rich in the

component.

(A) O second (Correct Answer)
(B) O seventh

(C) ©  third

(D) © fifth

......... harmonic

Question No.10 Marks: 1.00

Bookmark




Find the current through the resistor and the capacitor for the circuit shown in Fig.
The switch is closed at 1. = 0 and initial change in the capacitoris zero.
20

fs AN
10\/_—_

+

i(t)=10e " A
® O i(t)=5(1-e —SOOOt)A

© O
i(t)=10(1-e >%°" ) A

1]

=100 uF

@ O

D) O
© i(t)=5e ‘qui A |(Correct Answer)

Question No.11 Marks: 1.00

Bookmark
The miniature circuit breaker (MCB) with ........................ trip characteristics trips

instantaneously when the current flowing through it reaches between 10 to 20 times the
rated current.

(A) O Class D (Correct Answer)
(B) O ClassB
(C) O ClassZ
(D) O ClassC

Question No.12 Marks: 1.00

Bookmark
A single phase motor connected to 400 V, 50 Hz supply takes 25 A at a power factor of

0.75 lagging. Calculate the capacitance required in parallel with the motor to raise the
power factor to 0.95 lagging.

(AY O 62.55pF
(B) O 82.55 pF (Correct Answer)
(C) O 72.55pF
(D) O 92.55pF

Question No.13 Marks: 1.00

Bookmark
The threshold voltage of an N-channel enhancement mode MOSFET is 0.5 V. When the

device is biased ata gate voltage of 3 V, pinch-off would occur at a drain voltage of
(A) O 4.5V

(B) O 2.5V (Correct Answer)
() @rsv
(DO 35V

Question No.14 Marks: 1.00
Bookmark

The complex power injections at a bus are shown in Fig. Two lines are connected
drawing the powers-as shown in Fig. The complex power in the line-2'S;' is

S1i=3-j2

( ) Sc =5+j3 i
S:

(A) O 2+j5 (Correct Answer)
(B) O 245
(©) O 241
(D) O 2+#1




Question No.15

Thermopile is used for the measurement of
A) O emf

(B) O flow rate

(C) O temperature (Correct Answer)
(D) O ‘eurrent

Marks: 1.00
Bookmark

Question No.16

................. is the rms value of AC component of the current in the pole at the instant of

contact separation.
(A) O Asymmetrical breaking current

(B) O Symmetrical breaking current (Correct Answer)
(C) © Making current

(D) © Symmetrical short circuit current

Marks: 1.00
Bookmark

Question No.17

The short circuit current of a solar cellis

(A) O directly proportional to radiation intensity (Correct Answer)
(B) O changes logarithmically with radiation

(C) O constant and not affected by radiation

(D) O inversely proportional to radiation intensity

Marks: 1.00
Bookmark

Question No.18

What are the-main challenges that the electric grid faces?
(A) O Increase in Energy Demand

(B) O Reliability and Power Quality is Declining
(C) © Global rise in temperature
(D) © Al of the above (Correct Answer)

Marks: 1.00
Bookmark

Question No.19

The current in the coil of a large electromagnet falls from 6 Ato 2 Ain 10 ms. The
induced emf across the coil is 100 V. Find the self-inductance of the coil.
(A) O 0.25H (Correct Answer)

(8) O 0.5H
(C) O 0.75H
(D) O 1.25H

Marks: 1.00
Bookmark

Question No.20

Consider a solar PV plant with the following specific conditions:
Analysis period: 1 year

Measured average solar irradiation intensity in 1 year: 150 kWh/m?2
Generator area of the PV plant: 10 m?

Efficiency factor of the PV modules: 15%

Electrical energy actually exported by plant to grid: 135 kWh
Calculate the performance ratio.

(A) O 80%
(B) O 75%
(C) O 60% (Correct Answer)
(D) O /50%

Marks: 1.00
Bookmark

Question No.21

If the velocity of wind is doubled then the power output will
(A) O increase by 6 times

Marks: 1.00
Bookmark




(B) O increase by 8 times (Correct Answer)
(C) O doubled

(D) O reduced to half

Question No.22 Marks: 1.00

Bookmark
A DC shunt generator has an induced voltage of 220 V on open circuit. When the

machine is on load the terminal voltage is 200 V. Find the load current if the field
resistance is 100 Q and armature resistance is 0.2 Q.

(A)*© 98 A (Correct Answer)
(B) O 102A

() O 104A

() O 96A

Question No.23 Marks: 1.00

Bookmark
The DC offset in fault current causes conventional-over-current (OC) relays to :
(A) O under-reach
(B) O over-reach (Correct Answer)
(C) O reach remains unaffected due to DC offset

(D) © sometimes under-reach and sometimes over-reach

Question No.24 Marks: 1.00

Bookmark

What is the value of the characteristic impedance of a transmission line with impedance
and admittance of 15 and 5?

(A) O 0.707
(B) O 1.732 (Correct Answer)
(€) O 0.577
(D) O 1.414

Question No.25 Marks: 1.00

Bookmark
The maximum value of power factor is
circuit.
(A) O 1, inductive
(B) O 0.866, resistive
(C) O 1, resistive (Correct Answer)

(D) O 0.866, inductive

Question No.26 Marks: 1.00

Bookmark
Murray loop test is performed on a faulty cable 300 m long. At balance, the resistance

connected to the faulty core was set at 20 Q and the resistance of the resistor

connected to the sound core was 40 Q. Calculate the distance of the fault point from the
test end.

(A) O 400m
(8) O 100m
(C) O 200 m (Correct Answer)
(D) © 300m

Question No.27 Marks: 1.00

Bookmark
In a power network, 375 kV is recorded at a 400 kV bus. A 45 MVAR, 400 kV shunt

reactor is connected to the bus. What is the reactive power absorbed by the shunt
reactor?

(A) © -39.55 MVAR (Correct Answer)
() O 49.55 MVAR
(C) O 59.55 MVAR
(D) O 69.55 MVAR




Question No.28 Marks: 1.00

Bookmark
A three phase four pole 50 Hz induction motor has a rotor resistance of 0.02 Q/phase

and stand-still reactance of 0.5 Q/phase. Calculate the speed at which the maximum
torque is developed.

(A) O 1440 rpm (Correct Answer)
(B) © 1500 rpm
(C) © 1475rpm
(D) © 1525 rpm

Question No.29 Marks: 1.00

Bookmark
The sites where the capacity factoris .................. are not considered suitable for wind
power generation.

(A) O lesser than 12:% (Correct Answer)
(B) O greater than 24%
(C) O greater than'12%
(D) O lesserthan 24 %

Question No.30 Marks: 1.00

Bookmark
A 1000 kVA ONAN cooled transformer has a load of 500 kVA throughout the day except

for a period of 2 hours. What is the permissible overload for a duration of two hours.
Assume the permissible load kVA as a fraction of rated kVA is 1.43.
(A) O 700 kVA

(B) O 1050 kVA
(C) O 715kVA
(D) © 1430 kVA (Correct Answer)

Question No.31 Marks: 1.00

Bookmark
In a 3-phase, 4-wire, 400/230 V system, a lamp (L4) of 100 W is connected to one phase

and neutral and a lamp (L) of 150 W is connected to the second pahse and neutral. If

the neutral wire is disconnected accidently, what will be the voltage across a 150 W lamp
(Lo)?

(A) O 240V
() O 120V
() O 180V
(D) © 160 V (Correct Answer)

Question No.32 Marks: 1.00

Bookmark
A rectangular conductor is 1.6 inches wide and 0.25 inch thick. What is its area in square
mils?

(A) © 1400000 square mils (Correct Answer)
(B) © 40000 square mils

(C) O 4000 square mils

(D) O 400 square mils

Question No.33 Marks: 1.00

Bookmark
Which state is the largest producer of wind energy in India?

(A) O Tamil Nadu (Correct Answer)
(B) O Andhra Pradesh

(C) ©O Madhya Pradesh

(D) O ‘Maharashtra

Question No.34 Marks: 1.00

Bookmark
The most commonly used method for the protection of three phase feeder is

(A) O Time graded protection




(B) O Differential protection (Correct Answer)
(C) O Reverse power protection
(D) O None of the above

Question No.35 Marks: 1.00

Bookmark
In transformers,
Statement 1: Deterioration of oil may occur due to the result of prolonged overloading of
the transformer.
Statement 2: Dielectric faults occur in the winding due to turn-to-turn insulation
breakdown.
(A) O Both Statement 1 and Statement 2 are TRUE (Correct Answer)
(B) O Statement 1 is FALSE and Statement 2 is TRUE
(C) O Statement 1 is TRUE and Statement 2 is FALSE

(D) O Both Statement 1 and Statement 2 are FALSE

Question No.36 Marks: 1.00

Bookmark
In transformer testing, Sweep Frequency Response Analysis (SFRA) testing is a tool to
help locate................

(A) © Core movement

(B) © Winding damage

(C) O Short circuits

(D) O Al of the above (Correct Answer)

Question No.37 Marks: 1.00

Bookmark
A conductor having surface density is embedded in a dielectric medium of permittivity.
The electric field in the medium is E. If it is known that the pressure p on the conductor
surface is equal to the electric energy density in the medium, then p (in Sl unit)is given
by

A) O
(A) 2
2re
®) O 2
O'_ (Correct Answer)
2
©) © 0_2
&
B
4rre
Question No.38 Marks: 1.00

Bookmark
A star connected synchronous generator rated at 500 MVA, 50 kV has a reactance of 0.5
pu. Find the ohmic value of the reactance.

A)O 10

(B) O 2.5 0 (Correct-Answer)
() O 010

(D) O 0.250

Question No.39 Marks: 1.00

Bookmark
Which country leads in the production of biofuel in the world?

(A) O Germany

(B) O United States of America (Correct Answer)
(¢) O Brazil

(D) O Argentina




Question No.40 Marks: 1.00

Bookmark
A delta-connected balanced three-phase load is supplied from a three-phase, 400 V
supply. The line current is 20 A and the power taken by the load is 10 kW. Find the power
consumed if the same load is connected in star.
(A) O 3.33 kW (Correct Answer)
(B) O 16.66 kW
(C) © 30kw
(D) © 21.77 kW
Question No.41 Marks: 1.00
Bookmark
A 10-pole induction motor is supplied by a 6-pole alternator, which is driven at 1400 rpm.
If the motor runs with a slip of 5%, what is its speed?
(A) O 1425rpm
(B) O 1575rpm
(€) O 882rpm
(D) O 798 rpm (Correct Answer)
Question No.42 Marks: 1.00
Bookmark
If the phase velocity of a plane wave in a perfect dielectric is 0.4 times its value in free
space, then what is the relative permittivity of the dielectric?
(A) O 2.5
B) O 4.25
(C) O 6.25 (Correct-Answer)
(D) O 1.25
Question No.43 Marks: 1.00
Bookmark
The purpose of ................. is to check the ability of the circuit breaker to withstand the
overvoltages at power frequency as well as undesired value of voltage during lightning
and other discharge phenomenon.
(A) O synthetic test
(B) O dielectric test (Correct Answer)
(C) O routine test
(D) O short circuit test
Question No.44 Marks: 1.00
Bookmark
A 3 pF capacitor is charged by a constant current of 2 pA for six seconds. The voltage
across the capacitor at the end of charging will be
(A) O_4 Vv (Correct Answer)
B) O'2Vv
(C)O 6V
(D) O 8V
Question No.45 Marks: 1.00
Bookmark

Which of the following statements are correct?

(i) Advanced metering infrastructure (AMI) is typically more automated and allows real-
time, on-demand interrogations with metering endpoints.

(ii) An Automated Meter Reading (AMR) device only communicates from the customer
to the energy supplier.

(iii) AMR meters only provide kWh information and possible peak kW demand for the
month.

(A)O (i), (i) and (iii) (Correct Answer)
(B) O (i) and (ii) only

(C) O (i) and (iii) only

(D) O (ii) and (iii) only




Question No.46 Marks: 1.00

Bookmark
A 200/400 V, 20 kVA, 2-winding transformer is connected as an auto-transformer to
transform 600 V to 200 V. Calculate the kVA rating of the auto-transformer.

(A) O 30 kVA (Correct Answer)
(B) O 25kVA
(C) O 60kVA
(D) © /50 kVA

Question No.47 Marks: 1.00

Bookmark
Continuous and rapid variations in the load current magnitude which causes voltage
variations is known as

(A) O Flicker (Correct Answer)
(B) O Voltage distortion

() O Harmonics

(D) O Voltage sag

Question No.48 Marks: 1.00

Bookmark
Consider the following statements and choose the correct option.

Statement 1: DVR (Dynamic Voltage Restorer) is a series compensation device.
Statement 2: DVR protects sensitive electric load from power quality problems such as
voltage sags, swells, unbalance and distortion through power electronic controllers."
(A) O Statement 1 is TRUE and Statement 2 is FALSE

(B) O Both Statement 1.and Statement 2 are FALSE
(C) O Both Statement 1 and Statement 2 are TRUE (Correct Answer)
(D) O Statement 1 is FALSE and Statement 2 is TRUE

Question No.49 Marks: 1.00

Bookmark
What items should be considered when looking at a site for a new transformer
installation?

(A) O Environmental impact

(B) O Soils Report

(C) O site Survey

(D) O Al of the above (Correct Answer)

; Marks:
Question No.50 1.00

Bookmark

If the power supplied by the current source shown in Fig. is double of that supplied
by the voltage source, then the value of ‘R’ is

10V =— R E: ®z24a
(A) O 50
(B) O 3.33 a (Correct Answer)
() O 750
(D) O 2.50
Question No.51 Marks: 1.00

Bookmark
A single phase full converter bridge, connected to 230 V, 50 Hz source is feeding a load
R =10 Q in series with a large inductance that makes the load current ripple free. For a
firing angle of 450, calculate the rectification efficiency.

(A) O 50.55%
O




(B) 63.66% (Correct Answer)
(c) O 28.33%
(D) O 76.66%

Question No.52

Consider the following statements associated with Buchholz's relays.

Statement 1: Buchholz's relay is used for protection of a transformer against incipient
faults:

Statement 2: Buchholz's relay can be installed on oil cooled transformers.

(A) O Both Statement 1 and Statement 2 are FALSE

(B) O Statement 1 is TRUE and Statement 2 is FALSE

(C) O Both Statement 1 and Statement 2 are TRUE (Correct Answer)
(D) © Statement 1 is FALSE and Statement 2 is TRUE

Marks: 1.00
Bookmark

Question No.53

In which of the following situations, there is no need to provide directional overcurrent
protection.

(A) O ring main

(B) © "double end fed, single feeder

(C) O single end fed, parallel feeder

(D) O single end fed, single feeder (Correct Answer)

Marks: 1.00
Bookmark

Question No.54

What is the value of capacitance of a capacitor which has a voltage of 4V and has 16C
of charge?

(A) O 4F (Correct’/Answer)
(B) O 2F
() O 8F
(D) O~ 16F

Marks: 1.00
Bookmark

Question No.55

Marks: 1.00
Bookmark
Medium voltage covered conductors (MVCC) are produced in voltage rating
(A) O beyond 200 kV
(B) O between 6.6 kV to 33 kV (Correct Answer)
(C) O between 132°kVto 200 kV
(D) O less than 3.3 kV
Question No.56 Marks: 1.00
Bookmark
Match the following:
Buses Unknown Values
A. Slack bus (i) V., &6
B. Generator bus (i) P, Q
C. Load bus (i) Q, &
(A) O A = (ii), B = (iii), C = (i) (Correct Answer)
B) O A = (iii), B = (ii), C = (i)
(C) O A =(iii),B = (i), C = (ii)
(D) O A ={(ii), B = (i), C = (iii)
Question No.57 Marks: 1.00
Bookmark

Determine the ohmic value of the current limiting reactor per phase external to a 40
MVA, 15 kV, 50 Hz, three phase synchronous generator which can limit the current on
short circuit of 6 times the full load current. The reactance of the synchronous generator
is 0.06 pu.




(A) O 080
(8) O 020
() O 0.40Q
(D) O 0.6 a (Correct Answer)

Question No.58 Marks: 1.00

Bookmark
A 50 Hz synchronous generator is connected to an infinite bus through a line. The p.u.
reactances of generator and the line are j0.4 p.u. and j0.2 p.u. respectively. The generator
no load voltage is 1.1 p.u. and that of infinite bus is 1.0 p.u. The inertia constant of the
generator is 4 MW-sec/MVA. Determine the frequency of natural oscillations if the

generator is loaded to 60% of its maximum power transfer capacity and small
perturbation in power is given.

(A) O 1.8Hz
(B) O 1.2 Hz (Correct Answer)
(C) O 0.8Hz
(D) O 1.6Hz

Question'No.59 Marks: 1.00

Bookmark
In a single phase energy meter, the pressure / voltage coil is wound on

(A) O the edges of the limb on the laminated core
(B) O both the limbs of the laminated core with same turns
(C) O both the limbs of the laminated core with different turns

(D) O the centre limb of the laminated core / the middle limb of the shunt magnet
(Correct Answer)

Question No.60 Marks: 1.00

Bookmark
Consider the following statements and choose the correct option.

Statement 1: The speed regulation of a synchronous motor is always unity.
Statement 2: In a synchronous motor, at no-load condition, and with normal excitation
the armature current drawn by a synchronous motor is in phase with applied voltage.

(A) O Statement 1 is FALSE and Statement 2 is TRUE

(B) O Both Statement 1 and Statement 2 are FALSE (Correct Answer)
(C) © sStatement 1 is TRUE and Statement 2 is FALSE

(D) O Both Statement 1 and Statement 2 are TRUE

COMPUTER KNOWLEDGE - COMPUTER KNOWLEDGE

Question No.1 Marks: 1.00

Bookmark
Data Encryption Standard (DES) was designed by

(A) O Microsoft

(B) O Apple

(C) O IBM (Correct Answer)
(D) O None of the above

Question No.2 Marks: 1.00

Bookmark
A group of computers and other devices connected together is called a network and the

concept of connected computers sharing resources is called
(A) O Switching

(B) O Routing

(C) O Networking (Correct Answer)

(D) © [ Linking

Question No.3 Marks: 1.00

Bookmark
Which of the following medium is used between CPU and RAM to speed up the

processing power of a CPU?




(A) O Flash memory

(B) O Cache memory (Correct Answer)
(C) O Virtual memory

(D) © DRAM

Question No.4 Marks: 1.00

Bookmark
Which is the function of Operating System?

(A)- O Process Management

(B) O Device Management

(C) O Security

(D) O All the above (Correct Answer)

Question No.5 Marks: 1.00

Bookmark
Transistors were used in

(A) O Second Generation Computers (Correct Answer)
(B) O First Generation Computers

(C) O Third Generation Computers

(D) © ' Fourth Generation Computers

Question No.6 Marks: 1.00

Bookmark
Which feature is used in Ms Word to make the selected sentence to All Capital Letters or
All Small Letters?

(A) O Change case (Correct Answer)

(B) © Change capital

(C) O Change letter

(D) O Change sentence

Question No.7 Marks: 1.00
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Job, in operating system refers to

(A) O System Software

(B) O Process (Correct Answer)
(C) O Application Software

(D) O Program

Question No.8 Marks: 1.00
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The elements are specialized computers used to connect two or more
transmission lines.

(A) O..Switching (Correct Answer)
(B) ©. Networking

(C) O Broadcasting

(D) O Transfering

Question No.9 Marks: 1.00
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Message ____means that the data must arrive at the receiver exactly as sent.

(A) O Confidentiality
(B) O Integrity (Correct Answer)
(C) © Authentication
(D) © None ot these

Question No.10 Marks: 1.00
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Name the application under MS Office software bundle, that we use to create audio-

visual presentation.
(A) O MS Access




(B) O MS Word

(C) O MS Powerpoint (Correct Answer)
(D) O MS Excel
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Question No.1 Marks: 1.00

Bookmark
1S ei-icl. alsuq San Buuel vzs 2L 56 97

(A) O ¢ 8IS ot-itaal el

(B) O oy Hlste ei-iiedl ellel.

(C) O A MlsiS si-asidl. (Correct Answer)
(D) O i cl § °x ot-ig !

Question No.2 Marks: 1.00
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1. 4121 '3l 2ot STU AR, Galail AUESR ol B,

2. AR GUIA 1A GUHIA Vs o Sl AR BUUL AESR A,
3. ARutldAHl 2 A gl a2 U ‘gl ‘gl oFdl AGEL LA AR JUS WESIR ol
4. U 251 5 [FEl & Ridi-il 30 Uil $AU UL (AU AESR ol

GuRlst (Qau-iiHiall 53/ sui [Qau-l qRu 8.
A) O u4

® O 1,3

(C) O u1a 1 (Correct Answer)

(@) O 24

Question No.3 Marks: 1.00
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e’ 2Aoe-l [Qaeell 210t 21 [Aseuinial sl 82

(A) O qguHi

(B) © ‘21424 (Correct Answer)
(C) © e

(D) O aldd

Question No.4 Marks: 1.00
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121 U8 s2ell sdadi [Aaerell 87

1. U olld d URHSR - dUHA HIZ 1] - cielid
2. ARl AR 24 ARl A - (A asgL21d
3. viell ARM APl AR YR EUSt asL

4. s1a-i sul & awul - Qdl | gami usg
(A) O 245 ugL &l

B) O 543

(C) O ol séddl Axt-el 8.

(D) O g« 1 (Correct Answer)

Question No.5 Marks: 1.00
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AleRHAL: et =yl
(A) O aaat
(B) O &eudiit (Correct Answer)
(C) O ds+
(D) O dfxt

Question No.6 Marks: 1.00
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‘¢ A& 2l 2§ csuA RUNQAS BAUAAUQH] SRl




(A) O ¢ U -[S 24l 2,

(B) O ¢ stluetL-ls2udlag.

(C) O ¢ Fulid Ad & 2udl us.

(D) O ¢ Aas 4[& 2udl 21§. (Correct Answer)

Question No.7

Marks: 1.00
Bookmark
'sislosdl el Slad sesl
2L 2ALste] sl Aetia- el disuRAAL 58 SIE A5 ?
(A) O «d dl sisiosni i 5fad s221l 4? (Correct Answer)
(B) O siuslorHi el slad 53 dlg 8.
(C) O d dl dil spstorni e Sl 52U
(D) O swsilorHi it Sld 2l 5:4?
Question No.8 Marks: 1.00
) ] Bookmark
AR ARY RYsA: ?
A) O 22
(B) O =2u(a-uell
(C) O swaL (Correct Answer)
(D) O ww
Question No.9 Marks: 1.00
Bookmark
12 UK 20AS8' Al gL 210E Sl 72
(A) O 2142
(B) O =2sliuer(Correct Answer)
() O dsl
(D) O k9
Question No.10 Marks: 1.00
Bookmark

(A AL 2A[E & uisl. -s4l [Aseu RN 87
(A) O [&+ uu (Correct Answer)

B) O dl+=uu

(C) O dlu+ 2

(D) O [y + 2




